TEMPLEEY
WEBSTER

MODEL : CFATKGBP

Assembly Instruction

CFATKGGP
Item AA 1pc Item AB 1 pe Item AC 2 pes Ttem A 3lpes | ItemB 17 pes | Item C 2 pes
Headboard Footboard Side Rail Plastic Dowel (8x25) JCBC W M6 x 40 JCBC M6 x 40
Item AD 1 pc Item AE 2 pes Item AF 4 pes Item D 4 pes Item E 48 pes | Item F 46 pes
Q%M/ [miaaaiaans
Slat Support leg JCBC M6 x 60 CSK M3.5x 16 mm CSK M4 x 32 mm
Item AG 8pes | Item AH \ 8 pes Ttem Al 2 pes Item G 32pes | TtemH 2pes | Iteml 10 pes
Drawer Slide 500 Drawer Slide 500 E Side Wing CSK M4 x 50mm CSK M4 x 25 mm Mini Fix Bolt
Item J 10 pes Item K 10 pes Item L 52 pes
Item 1 2 pes Ttem 2 2 pes Ttem 3 2 pes Ttem 4 2 pes mx
m w Small Drawer Front . — H Small Drawer Back @
Big Drawer Front mw Big Drawer Back P . R i1 ¢
m W pog [rawer Tron Panel Feirai Panel Mini Fix Housing Mini Fix Cap Power Nail %
Ttem 5 2 pes Item 6 2 pes Ttem 7 4 pes Ttem 8 4 pes Item M 16 pes | Item N 1pe Item O 14 pes
3 _|
H ..
H ” me%-mémn Bottom WE»___ Drawer Bottom Small Drawer Side of| Big Drawer Side X @
ane] Panel of| Pancl
Item 9 8pes | Item 10 Ipc | Ttemil Ipc | Item12 2 pes White Nail Leg Allen Key 65 mm M6 Flat Washer
e W )
Item 13 2 pes 1pe Item 15 1pc Ttem 16 1 pe
JCBC M6 x 50 Adjuster JCBC M6 x 30
X /”l\ <
Ttem 17 1pc Ttem 18 1pe




p da1s

i ¢ doig mun 1 dojg | sures oY) ST IOMBIP
[rews pue someip Siq o ojquiasse 0 Aem oy | dAIg

w2 w2
= =
[¢] [¢]
o o
)] \S)
w2 w2
= =
[¢] [¢]
o o
@) W




Step 8




-doys owres oty jeodar pue
SpIS 19410 oY) 0} @ dig o ‘@mm 1 uoySn pue @01 @ yoepy 91 doig

¢1 daig

L1 da1g

1 doig

g1 doig

¢1 daig







puf pI1eoqoo]




1¢ daig




